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CERTIFICATE IN ACCOUNTING TECHNICIANS

FOUNDATION COURSE (ENTRY LEVEL)—PART I EXAMINATION

Economics and Business Fundamentals

Time Allowed: 3 Hours

The figures in the margin on the right side indicate full marks.

SectioN I (60 marks)

Answer Question No. | which is compulsory and any two from the rest.

(a) Answer the following:

(1)

(ii)

(1)

(1v)

Economics is

(A) Normative science
(B) Positive science
(C) Human science
(D) Political science

Theory of Demographic transition was developed by

(A) Malthus
(B) Pigou

(C) Walker
(D) Keynes

Bank rate policy is a _
(A) Quantitative method
(B) Qualitative method
(C) Optional method

(D) Fiscal method

Inductive Method proceeds from
(A) Particular to General

(B) General to Particular

(C) Imagination to reality

(D) None of the above
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(v)

(vi)

(vit)

(viii)

(ix)

Constituents of money supply are

(A) Rupee notes and coins with the public
(B) Credit cards

(C) Traveller’s cheques etc.

{D) All the above

Total revenue is equal to
(A) Price x Quantity sold
(B) ATR

2Q
(© TR

Q
(D) All the above

The author of ‘General Theory of Employment and Money’ was
(A) Adam Smith

(B) Paul Samuelsen

(C) 1.M. Keynes

(D) Robbins

The law ‘supply creates its own demand’ was put forth by
(A) Marshall

(B) Pigou

(C) Robbins

(D) J. B. Say

Gresham's law says

(A) Good money drives out bad money out of circulation
(B) Bad money drives out good money out of circulation
(C) Both good and bad money go out of circulation

(D) None of the above

(b) Fill in the blanks:

(1)

(i) When the rate of taxation decreases with the increase in income it is called

(iii)

(iv)
(v)
(vi)
(vit)

Percapita income figure would be inflated because of

1x12

taxation.

unemployment means when a large part of workforce engaged could be removed without

reducing the total output.

Theory of comparative cost was developed by

Cash Reserve Ratio should be to control inflation.
National Income is nothing but the income of a nation or a

Labouris a factor.
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(viii) Generally money is created by the
(ix) Fisher's equation is MV =

(x) Investment means a change in the stock of capital over a period of

(xi) The two primary functions of a commercial bank are the function and function
(xii) policy is formulated and implemented by Government while policy is executed
by the Central Bank.
(c) State which of the following statements is True and which is False: 1%9

(i) Giffen goods are otherwise known as superior goods.

(if) When total utility is zero, marginal utility is maximum.

(iii) Average Fixed cost can never be zero.

(iv) Adequate liquidity is an essential feature of a sound banking system.

(v) Industrial Finance Corporation of India is an investment bank.

(vi) Unfavourable balance of trade exists when imports are greater than exports.
(vit) Theory of absolute trade was propounded by J. M. Keynes.
(viii) An increase in wealth means an increase in welfare.

(ix) Income tax is an indirect tax.

(d) Define the following terms in not more than two lines: 1x6
(i) Consumer’s surplus

(11) Shut down point

(iii) Near money

(iv) Regressive tax

(v) Semi-inflation

(vi) Monetary Policy
Write short notes on the following: ) 4x3
(a) Credit creation by commercial banks

(b) Determinants of Elasticity of Demand

(c) Functions of money
Define Central Bank. Discuss its various functions. 2+10
. Discuss the Cannous of taxation. 12
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(4)

Section IT (40 marks)

Answer Question No. 6 which is compulsory and any two from the rest.

5. (a) Answer the following:

(i)

(i1)

(iii)

(iv)

(v)

(vi)

Articles of Association of a company
(A) is a document showing internal relationship

(B) is a document showing external relationship of a company

(C) is an appeal to the public to subscribe to the shares of a com pany

(D) is a creditorship document

OTCEI is

(A) An export organization

(B) Funding agency for industries

(C) A public facility to get scheduled drugs

(D) Assisting small and medium firms to get access to share market nationwide

All the business activities fall under the categories:
(A) Industry

(B) Trade

(C) Commerce

(D) All the above

Characteristics of the sole proprietorship are:
(A) Capital contribution

(B) Unlimited liabilities

(C) Limited area of operation

(D) All the above

Merits of a partnership form of business are:
(A) Simple formation

(B) Sufficient resources

(C) Flexibility of operations

(D) All the above

The Securities Contract (Regulation) Act 1956 regulates:

(A) Security of companies

(B) Contractual relations between a company and its shareholders
(C) Formation and functioning of stock exchanges in the country
(D) All the above

1 %6
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(b) Fill in the blanks: 1x6
(1) Perpetual existence is a feature of organization.
(i) No redeemable preference share can be redeemed unless they are
(ii1) The issue of bonus shares by a com pany is a

(iv) All general meetings other than the Statutory and Anual general meetings are called general
meetings.

(v) Government policies are an important part of environment of a company.
(vi) A written communication provides record for future reference.

(c) State which of the following are “‘TRUE’ and which are ‘FALSE’ 1%6
(i) Misstatements in prospectus leads to cancellation of listing.
(ii) Private company limits its members to fifty.
(iit) Social or cultural environment is a part of political environment.
(iv) Stock exchanges mirror the phases of business cycles.
(v) The company law has not given any legal status to a promoter.
(vi) A stock exchange does not permit speculation.

(d) Define the following terms in not more than two lines: 1x6
(i) Special resolution
(it) Contract note
(iii) E-mail
(iv) A co-operative
(v) A multinational company

(vi) Minor as a partner

(a) Explain the features of good communication. 444

(b) Draft a circular to your customer detailing the new series product you are introducing into the market.
What is meant by listing in stock exchange? Explain the procedure for listing in a stock exchange. 4+4

Discuss the various objectives of a business. 8
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|vg I (60 i)
TerH G F IR oA A & a9 99 7 § 2 e & I o)

1. (a) F=fafEg & s Sifsu: : 1x9
(i) e 2

(i) ST uiada & fagra = wfaue fawn
(A) HEYH gl
(B) W ERI
(C) =& g
(D) &4 gRI
(iii) e g +ifq &:
(A) HEEs fafy
(B) TuneHss fafy
(C) d=feass fafy
(D) sty fafy

(iv) Frme fafy s 2
(A) TR ¥ 9mrg =t 3R
(B) "= fodm =i SR
(C) Hed | arsafashar & 3R
(D) 39 § | FE =
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(v) 51 =1 9 & whwfer @
" (A) VI ¥ U A 7 faw
(B) #fez =g
(C) =it 9%

(D) 3w weft
(vi) F&1 STTH SR 3
(&) 99 x Tawa % 7 e
® L5
© 5
(D) 37w @it

(vii) "' <ReT @l T TenTEE wre T % S 9
(A) Ten fmy
(B) et Hrqueres
(C) o THo FHY
(D) s

(viii) " SfRE SToT HiT Se el ¥ Foram e fow T e
(A) wiie grr
(B) W gm
(C) Ufs=g gra
(D) Sodto § M

(ix) e =1 forem e 3
(A) 37531 Ha1 U 1 oM § =t o &
(B) T HR1 37T=8t W51 B T § 9 7 2t 2
(C) T T 7=t T 1 wer Qa1 & et ¥
(D) 39 # & =1 7

(b) T vt =1 gfd i 1x12
(i) wfa =afem =i 3 =t ufe 4 ofg % R T

(ii) S o1 & 9fg & wa-ary S ) w4l @ @ FIT T
(iii) “ﬁﬁmﬁ@m%,wa@ﬁmﬁmﬁmsq’mﬁaﬁﬁmgmwﬂm,mm
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(iv) ToFTHeE Td fagra &1 wiaded g o T om)

(v) T3 WER @ FrEfEa 6 & o 96 " e S ST =R |
(vi) TBH 3T U TP AT TH T 3 F Afafaa T T 7
(vii) %9 TF FF E |
(viii) ST g1 & i B fera < ¥

(ix) Forem =t gfisor &: MV =
(x) faf&m | s o arafy § gt F %9 F fadd 9§ ¥

(xi) THANRE SFFaAMAFEEEE_ wE ad = |

(xii) __ =ifa e gro fauifa aen sedes # feafaa =t s € safE Hifa Fia dF g

gafed it A
(c) = fa frifara § 9 &9 ¥ o9 ¥ o 29 9 35 B 1%9

(i) Trfe aqd gl ¥ § 1=t Ie FEeldl © |

(ii) ST o1 STATal I3 Bl € el WA S st g €1

(iii) #iraa fer @ F 3= 76 & T 2

(iv) 3= ST sxaeen # yain e STavas ¢

(v) WRErg SRt faem 3% o fafem S5 8

(vi) WfaRel ANR G 39 999 2 € 5@ frafa § s sifass 2

(vii) Ty =R =1 fagra So wHe Fa gr wfquifed fomam
(viii) Tt H gfig o o7ef e F gfg 2

(ix) STRIRY T STHE ¥ |

(d) Frfafaa af o sifusa 2 el § waeEd: 1 %6

(i) SUIeRT S=d

(ii) IcureA ==1 W fog

(iii) aHgadl g5

(iv) wfermHT &

(v) 37 T30 Thifd

(vi) Tifse Hifa
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(9)

=1 o wifer feupoft fafaa:
(a) aifufsas S gr1 9ra gom
(b) Wi = T F fuie a
(c) Y1 % Hrd
W%mﬁwﬁmaﬁmﬁmw%ﬁfwaﬂﬁaﬁmsﬁl
HTY % fagrdi = gasmey | |

g [I (40 37%)

FETS F I G AR & 7o A9 7 Q2 5y 3 I Hrw)

(a) Frferfas & 3ot difsu.

(1) TH FEAT S I S
(A) T 99F B N1 Tafier ey weiia o &
(B) U WO Sl AT o HTed WA Wi R §
(C) =& WOl Sil STaT i et % 3791 THie ¥ frde =t
(D) T&F W9 S e 4 Tt §

(ii) OTCEI®:
(A) T Faid HmeT
(B) ST =l V1 SaTe T
(C) srggfaa sifedt i ww HT1 F1 o giaw
(D) 1Y TF HeH EHl il TP S SIS 9H F e

(iii) |4 =i nfafafiat Soft F s £
(A) 3&rT
(B) =ATIR
(C) =forsg
(D) W wft

(iv) Wehiehl SR & w& &:
(A) YTt =1 e
(B) oreifua et
(C) Hiftg e
(D) Sug Tt
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(v) WERH SaEm™ & o §:
(A) "= fafor
(B) 94fH @a
(C) wrd § wriien
(D) S9ds g+t
(vi) wfayfd srgery (Framm) sifufam 1956 Fram o 3
(A) F1 i geen =
(B) T & SfRrenfiai & sTa-uTne W #it
(C) @ Touifort & ffor 3 s wonfert =1

(D) I et
(b) R vl =0t g i 1x6
() Wivga aIfiqe e @t U i €
(ii) S T MuEE qEifgwR e 9 € 99 a 3 YT T8 S T 2
(i) FR g aFE s w i es 3
(iv) Senfer 3R a1fes Tumer 9o 1 SreaR o Wl WM TN men st B
(v) TR ol F w5 iR o s e o Bt #
(vi) fofEd dee wfam o sificia wem aa €
(c) Fared {5 Frefefiaa § & 3 & +oF g € ol 39 @ e 1x6

(i) et 4 fegenia 8 § geieT fiw & g §

(it) Toft st 3 weet %t wem 50 9 Hifta ad ®

(iii) HEIT 91 HiHfae Taiawr TaAfas gateor s fewr ¥
(iv) &y fauftr =i 5= =it feafa o1 oo 3 1

(v) Fet sifafrm wades i o duite ffa =@ vem = @

(vi) @y fauft geeamst =t st 78 < £
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(d) Frefefaa w=i F stfuram 2 el § qagmEd: 16
(i) Tadm v
(i) HFIH HIA
(i) 3-9
(iv) T Heawifan
(v) o SEUE e
(vi) ATEfeRT U WG & 9 |

. () T o7 wEmYl & fodreand s | 4
(b) HTA e 1 T R Fefe fred s # w9 Seel # e B e w0 % faw d awen a4
.y farfon # gefra e avd %2 T farfon # e S i 1 gweed | 4+4

. ogagE % fafr= sl 1 W i 8



